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(. HNLUMBER NUMBER FERCENT BINOMIAL
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!Hr t!HuﬁlmL TEST SHOWS THAT 16 aND 1é6 CaN BE
STATISTICALLY S0UND CONSERVATIVE 95 PERCENT

£ LIMITE, BECAUSE THE ALCTUAL CONFIDENCE LEVEL
WITH THESE LIMITE IS GREATER THAN 95 PFERCENT.

8 AFPRDY 1H;~H'L_ LEDO FOR THIS SET OF DATA IS 14

RESULTS CALCULATED USING THE MOVING AVERAGBE METHOD
! G LSO 93 PERCENT CONFIDENDE LIMITS

<AHI00TEH l& F.778513 B3.31254

RES

ESULTS CALCULATED USING THE FROBIT METHOD
ITERATIONG = H GUOODNESS OF FIT FROBAEBILITY
3 1. 300682 4.631478 Fe 740412003

SINCE THE FROBABILITY IS8 LESS THAM .05, RESULTS CQLCULQTEU
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

SLOFE = 1. 005483
P2 FERCENT CONFIDENCE LIMITS =—. 1417449 AN 2. 153221

D10 = . FOERTER

FIOFERCEMT CQNFIEEMCE LIMITS = O AND
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THE BINOMIAL TEST SHOWS THAT 4 aND 1é CAN BE
LISED A5 STATISTICALLY SOUND CONSERVATIVE 95 FE

RCENT
RMEFIDENCE LIMITE, BECAUSE THE ACTUAL CONFIDENCE LEVEL

OCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

AN ARPPROXIMATE LCSO FOR THIS SET OF DATA IS &

2

ax

e

4
a 1.0

RESULTES CALCULATED USING THE MOVING AVERAGBE METHOD
AN G LESG 55 PERCENT CONFIDENCE LIMITS

= . FREVARE-OZ &£. 233911 4.,788349

8. 480844

CALCULATED USING THE PROBIT METHOD
= e H GOODNESS IT PROBABILITY
= 1. 05EF7Y &. 736432 1.187146E-03

SINCE THE PROBABILITY IS LESS THAN .05, RESULTS CALCULATED
USING THE FPROBIT METHOD FROBABRLY SHOULD NOT BE USED. '
=3 = 1.3536&675

FERCENT CONFIDENCE LIMITS =-.0408144 AN E.174345

= S, 6T41E9
5 FPERCENT CONFIDENCE LIMITS = .414657&6 AND  +INFINITY

LC1G = - BEFEF0T
75 CONFIDENMCE LIMITS = O AND
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NUMBER PERCENT BIMOMIAL

DEAD DEAD FROB. (FERCENT?

i& 1030 100 100 ]

lewis
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COnNC., NLIME

4 100 2 S0 o
1 100 20 S0 o
w25 100 Fi 7O 0

THE BINOMIAL TEST SHOWS THAT O aAND .25 CAN BE

USED AS BTATISTICALLY SOUND COMSERVATIVE 95 PERCENT
COMNFIDENCE LLIMITS, BECALUSE THE ACTUAL CONFIDENCE LEVEL
ASROCIATED WITH THESE LIMITS IS GREATER THAN 935 PERCENT.

AR ARFROXIMATE LCSC FOR THIS SET OF DATA IS .35

THE MOV ING
BECAUSE NO
BRACKET 45 D
100 FERCENT.

E METHOD CANNOT BE USED WITH THIS DATS SET
WHICH FPRODUCES MOVING AVERAGEE ANGLES THAT
2 ALGD USES TWO FPERCENT DEASD BETWEEN O aND

RESULTS CALCULATED USING THE PROBIT METHOD
{TERATIONS ] H GUUODNESS OF FIT FROBARILITY
= 1.987077 G HURETE 2. 7EEEREE-O2

SINCE THE PROBABILITY IS5 LESS THAN 0.0%, RESULTS CALCULATED
USING THE FROEIT METHOD FROBAELY SHOULD NOT BE USED. 4

SLOFE = L HB7ETEA]L
95 FERCENT CONFIDENCE LIMITS =-, 3591559 AND 2.112488

RS S T R e e e
LioH0 = S.8EBETEE-GZ

F5OFERCENT CONFIDENCE LIMITS = O AND - 454167

So= O AMND 8.778014E-02
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THE BINOMIAL TEST SHOWS THAT
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COMC MUMBER NUMBER PERCENT BINOMIAL
EXPOSED DEAD BEAD PROB. (FERCENT?
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THE NUMEBER OF ORGANISMS USED WAS S0 LARGE, THE 95 PERCEN
a& INTERVALS CALCULATED FROM THE BINOMIAL PROBARILITY AR

LE.  USE THE IMTERVALS CALCULATED EY THE OTHER TESTS.

I
=

AN AFFROXIMATE LCSO FOR THIS SET OF DATAG I8 740417

CALCULATED UBING THE MO AVERAGE METHOD
G LSO F& FERCENT COMFIDENCE LIMITS

R R W e v G {3 (T R % e ]
1. 18862569 -02 1. 083952 - OFB5744

l""‘l
IJ i

FEBULTE ihLLULHFtU USING THE PROBIT METHOD
ITERATIONS H GOODNESS OF FIT FROBABILITY
3 ZL.HIER0E 26.6169%2 O
A FROBABILITY OF O MEANS THAT IT IS LESS THAN 0.001.

ol

MOE THE FROBAEBILITY IS LESS THAN 0.05, RESULTS CALCULATED
G THE FROBIT METHOD FROBABLY SHOULD NOT BE USED.

E o= 2.018807
ERCENT CONFIDENCE LIMITS =-1.76552% AND 5. 805147
L OREEEE

st

CONFIDEMCE LIMITS = O AND +INFINITY

= O AND +INMFINITY
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NUMEBER FERCERNT EITRMNOMIAL
DEAD READ FROB. (PERCENT?
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THE BINOMIAL TEST SHOWS THAT 1 AaND 4 CaAN BE

USED A5 STATISTICALLY SOUND CONSERVATIVE 995 FERCENT
CONFIDENCE LIMITE, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ABELCIATED WITH THESE LIMITE IS8 BREATER THaN 935 FPERCENT.

AN APPROAXIMATE LOSG FOR THIS SET OF DATA

=i
-
J
i

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
: = LCSO 5 FERCENT CONFIDENCE |

s F.17FREEE-02 Lo 766091 L
Fa 3EL487

CaLCULATED USING THE PROBIT METHOD

= = H GOODNESS OF FIT FROBABILITY
11.46456 i

MG THAT IT IS5 LESS THAN ©.001.

Ve

SINCE THE FROBABILITY IS LESS THANM 0.0%, RESULTS CALCULATED
USING THE FROBIT METHOD PROBABLY SHOULD NOT BE USED.

OGFE = 1.368601
FERCENT CONFIDENCE LIMITS =-.400184 AND 3. 137386
LOSO = 1. 687061

7o FERCENT CONFIDEMCE LIMITS = O AND +INFIRNITY

LEiG = 15148
95 FERCENT COMFIDEMCE LIMITS = O AND 1.266825
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CONC. NUMBER NUMBER PERCENT BINOMIAL
EXPOSED DEAD DEAD PROB. (PERCENT)
16 199 95 95 g
4 109 90 90 g
1 169 70 790 g
.25 164 g /] /]

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS .740413

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
3 1.156269E-02 1.483952 .8985744 1.288968

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
6 3.513268 26.61396 ]
A PROBABILITY OF ¢ MEANS THAT IT IS LESS THAN 0.001.

SINCE THE PROBABILITY IS LESS THAN #.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

SLOPE = ‘ ”2/.w18814
95 PERCENT CONFIDENCE LIMITS =-1.765193 AND 5.80282
Lcsg = 9922226

95 PERCENT CONFIDENCE LIMITS = § AND +INFINITY
LC1g = .2330917

95 PERCENT CONFIDENCE LIMITS = @ AND +INFINITY :
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CONC. NUMBER NUMBER PERCENT BINOMIAL

fﬁkgﬁu‘ EXPOSED DEAD DEAD PROB. (PERCENT)
16 + 100 90 9¢ ]
4 100 80 80 g
1 100 29 20 1]
.25 100 29 29 )

THE BINOMIAL TEST SHOWS THAT 1 AND 4 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

AN APPROXIMATE LC5¢ FOR THIS SET OF DATA IS(;;/:)

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95 PERCE CONFIDENCE LIMITS
3 3.179922E-02 -766091_ 1.326922 2.331487

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
3 1.679309 11.64562 ]

A PROBABILITY OF ¢ MEANS THAT IT IS LESS THAN 0.001.

)
SINCE THE PROBABILITY IS LESS THAN 0.65, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

SLOPE = Q 1. 368601

95 PERCENT CONFIDENCE LIMITS B 4@@1851 AND 3.137387

LCS5@ = 1.687061 "

95 PERCENT CONFIDENCE LIMITS = ¢ AND +INFINITY

LC10 = .199148

95 PERCENT CONFIDENCE LIMITS = @ AND 1.266826
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CONC. NUMBER NUMBER PERCENT BINOMIAL
EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 100 19¢ ]
4 1006 95 95 1]
1 1090 95 95 g
.25 199 /] g ]

THE BINOMIAL TEST SHOWS THAT .25 AND 1 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS .5525786

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
2 1.156269E~02 .6106863 .5275889 .6987626

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
8 13.85117 77.64542 /]
A PROBABILITY OF ¢ MEANS THAT IT IS LESS THAN 0.001. ;

SINCE THE PROBABILITY IS LESS THAN @¢.¢5, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

TN

SLOPE = gl3.6a7313 ,

95 PERCENT CONFIDENCE [MITS =-9.818096 AND 17.93273
N ™

Lc50 = ( .6242685 .-

95 PERCENT-CONFIDENCE LIMITS = § AND +INFINITY

LC1@ = .2775296

95 PERCENT CONFIDENCE LIMITS = @ AND +INFINITY
kkhkhkhhhkhhhhhkhhhkhkhhhhkhhhhhhhhhhhhhhhhhhhhhkhhhhhhhhhhhhhhkhkrrkhhhkkhkkkdhhkkk
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CONC. NUMBER NUMBER PERCENT BINOMIAL
qu&v&«_ EXPOSED DEAD DEAD PROB. (PERCENT)

16 100 100 100 0

4 100 90 90 0

1 100 90 90 0

.25 100 70 70 0

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.

.
» 3

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS{T3325746

M

THE MOVING AVERAGE METHOD CANNOT BE USED WITH THIS DATA SET
BECAUSE NO SPAN WHICH PRODUCES MOVING AVERAGE ANGLES THAT
BRACKET 45 DEGREES ALSO USES TWO PERCENT DEAD BETWEEN 0 AND
100 PERCENT.

RESULTS CALCULATED USING THE PROBIT METHOD
ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 1.987077 3.603294 2.723396E-02

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

e ™
SLOPE = (8767661
95 PERCENT CONFIDENCE LIMITS =-. 3591559 AND 2.112688
$S6?23 p
ILC50 = .05.855673E-02 . 0S¥
95 PERCENT CONFIDENCE LIMITS = 0 AND  .464167
LC10 = ,002.084837E—03

95 PERCENT CONFIDENCE LIMITS = 0 AND 8.778014E-02
ek e s ok ok ok ok ok ok ok ok ook ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ke sk ok sk sk ok ok ok ok ok ok ke ok ok ok ok ok ok ke ko ok ok ok ok ok
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CONC. NUMBER NUMBER PERCENT BINOMIAL
EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 95 95 0
4 100 90 90 0
1 100 80 80 0
.25 100 0 0 0

THE BINOMIAL TEST SHOWS THAT .25 AND 1 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

AN APPROXIMATE LC50 FOR THIS SET OF DATA I$ .658034l

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
2 1.343431E-02 . 8122755 T .7026066
.9337601 S

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
6 5.144235 37.16577 0

A PROBABILITY OF 0 MEANS THAT IT IS LESS THAN 0.001.

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

SLOPE = . 1.981815
95 PERCENT CONFIDENCE LIMITS =-2.513122 AND 6.476753

—

Lcs50 = ( .8652326
95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY

LC10 = .1978365

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY
Khkkkkhhkkkkhkhkhhhhhhkhhhhkdhhhkhkhkhhkhkhhhhkhhhhkkhkkkkhkkkhkkhkdkkkkkkkkkkkk
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ko ok ok Kk ok ok ok ok ok kK
CONC. NUMBER NUMBER PERCENT BINOMIAL
EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 90 90 0
4 100 20 90 0
1 100 80 80 0
.25 100 40 40 0

THE BINOMIAL TEST SHOWS THAT .25 AND 1 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

—
AN APPROXIMATE LC50 FOR THIS SET OF DATA IS .3480085

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN : G LC50 - 95 PERCENT CONFIDENCE LIMITS
1 .1095176 . .3480084 .252084 .4394636

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 2.184463 7.053021 0

A PROBABILITY OF 0 MEANS THAT IT IS LESS THAN 0.001.

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

.
SLOPE = (9248021~ ;o
95 PERCENT CONFIDENCE LIMITS =-.4420487  AND  2.291653
LC50 =  .2734224

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY

LC10 = ,41.157623E-02

95 PERCENT CONFIDENCE LIMITS = 0 AND  .2546234

*************************************************************************
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%ok ok ok Kk ook ok ok ok ok k **********************************************************
CONC. NUMBER NUMBER PERCENT BINOMIAL
gwsasJho  EXPOSED DEAD DEAD PROB. (PERCENT)

16 100 90 90 0

4 100 70 70 0

1 100 30 30 0

.25 100 0 0 0

THE BINOMIAL TEST SHOWS THAT 1 AND 4 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

e N
AN APPROXIMATE LC50 FOR THIS SET OF DATA Is 2

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
3 1.343433E-02 _2.351185 "’ 1.964546
2.826343 , T e

RESULTS CALCULATED USING THE PROBIT METHOD
ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 .4886954 4.081009 1.689059E-02

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED. .,

D
SLOPE = (1.831677.
95 PERCENT CONFIDENCE LIMITS = .5512111  AND  3.112143
LC50 = . 2.376956
95 PERCENT "CONFIDENCE LIMITS = .7293156 AND 8.324125
LC10 =  .481579
95 PERCENT CONFIDENCE LIMITS = 9.32853E-03 AND 1.26283

************k************************k***********************************
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CONC. NUMBER NUMBER PERCENT BINOMIAL
s s hen EXPOSED DEAD DEAD PROB. (PERCENT)

16 100 80 80 0

4 100 30 30 0

1 100 20 20 0

.25 100 0 0 0

THE BINOMIAL TEST SHOWS THAT 4 AND 16 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

TN

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS(%.871333

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95‘PERCEH? CONFIDENCE LIMITS
2 4.722749E-02 ‘”6.235911' 4.788349
8.480846 -

RESULTS CALCULATED USING THE PROBIT METHOD
ITERATIONS G H GOODNESS OF FIT PROBABILITY
3 1.052779 6.73642 1.187146E-03

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED. ,

SLOPE = \J1.56675

95 PERCENT CONFIDENCE LIMITS =-.0408144  AND  3.174315
1c50 = (5.624189

95 PERCENT CONFIDENCE LIMITS = .4146576 AND +INFINITY
LC10 = .8698909

95 PERCENT CONFIDENCE LIMITS = 0 AND 3.176267
Tk Aok kok ok ok ok ok ok ok ok ok ke ke ook ok ok ok ok ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok
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CONC, NUMBER NUMBER PERCENT BINOMIAL
7ms¢y¢ﬂ EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 90 90 0
4 100 40 40 0
1 100 20 20 0
.25 100 20 20 0

THE BINOMIAL TEST SHOWS THAT 4 AND 16 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

N

AN APPROXIMATE LC50 FOR THIS SET OF DATA Is 5.126533

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
3 3.179922E-02 . "3.72762D1 2.808985
5.15319 -

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 2.656777 14.34052 0

A PROBABILITY OF 0 MEANS THAT IT IS LESS THAN 0.001.

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

T / ‘ B b
SLOPE = (1.11404

95 PERCENT CONFIDENCE LIMITS =-.7018029 AND 2.929882
o a N

Lcso = (3.178705

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY

LC10 = .2302793

95 PERCENT CONFIDENCE LIMITS = 0 AND 2.393791
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CONC. NUMBER NUMBER PERCENT BINOMIAL
%u:ﬁ/mt EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 50 50 0
4 100 30 30 0
1 100 20 20 0
.25 100 0 0 0O

THE BINOMIAL TEST SHOWS THAT 16 AND 16 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

o ™~
AN APPROXIMATE LC50 FOR THIS SET OF DATA 15/16 .

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 95 PERCENT CONFIDENCE LIMITS

~

1 .4610078 {/ 16 9.798513 85.51254
N

RESULTS CALCULATED USING THE PROBIT METHOD
ITERATIONS G H GOODNESS OF FIT PROBABILITY
5 1.300682 4.631478 9.740412E-03

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

P i,

- o %
SLOPE = 1.005483
95 PERCENT CONFIDENCE LIMITS =-.1412448 AND 2.15221
LC50 = / 13.48773
95 PERCENT CONFIDENCE LIMITS = 2.684051 AND +INFINITY
LC10 = .7359768

95 PERCENT CONFIDENCE LIMITS = 0 AND 3.578847
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CONC. NUMBER NUMBER PERCENT BINOMIAL
gw 8 fhw EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 100 100 0
4 100 100 100 0
1 100 90 90 0
.25 100 80 80 0

THE BINOMIAL TEST SHOWS THAT 0 AND .25 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

—

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS(é

THE MOVING AVERAGE METHOD CANNOT BE USED WITH THIS DATA SET
BECAUSE NO SPAN WHICH PRODUCES MOVING AVERAGE ANGLES THAT
BRACKET 45 DEGREES ALSO USES TWO PERCENT DEAD BETWEEN O AND
100 PERCENT.

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS e H GOODNESS OF FIT PROBABILITY
5 .1474015 1 .1605274
- - ’—//.\ h\'

SLOPE =  1.251298

95 PERCENT CONFIDENCE LIMITS = .7708885 AND 1.731708
LC50 = 6.135687E~02 , 243

95 PERCENT CONFIDENCE LIMITS = 1.477878E-02 AND .1213337
LC10 = ,:5.928122E-03

95 PERCENT CONFIDENCE LIMITS = 3.477171E-04 AND 2.145674F—02
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" CONC. NUMBER NUMBER PERCENT BINOMIAL
T““:/hu EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 100 100 0
4 100 100 100 0
1 100 50 50 0
.25 100 50 50 0

THE BINOMIAL TEST SHOWS THAT 1 AND .25 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS/.S

S

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G LC50 95 -PERCENT CONFIDENCE LIMITS
2 3.532447E-02 .5 .3734322
.6363298 S

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
5 3.98124 19.29953 0

A PROBABILITY OF O MEANS THAT IT IS LESS THAN 0.001.

/
SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLI\§EOULD NOT BE USED.

SLOPE = 1.476652

95 PERCENT CONFIDENCE LIMITS =-1.469719 AND 4.423023
LC50 =  ._.4041605

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY

LC10 = .0557828

95 PERCENT CONFIDENCE LIMITS = 0 AND .6422286
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CONC. NUMBER NUMBER PERCENT BINOMIAL
9WAQ;/h“ EXPOSED DEAD DEAD PROB. (PERCENT)

16 100 100 100 0

4 100 80 80 0

1 100 60 60.00001 0

.25 100 0 0 0

THE BINOMIAL TEST SHOWS THAT .25 AND 1 CAN BE

USED AS STATISTICALLY SOUND CONSERVATIVE 95 PERCENT
CONFIDENCE LIMITS, BECAUSE THE ACTUAL CONFIDENCE LEVEL
ASSOCIATED WITH THESE LIMITS IS GREATER THAN 95 PERCENT.

P \\\’
AN APPROXIMATE LC50 FOR THIS SET OF DATA IS<;?475251
RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 95 PERCENT CONFIDENCE LIMITS
3 8.831122E-03 . 1.349167 ™, 1.156032
1.56356 R

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 1.64501 12.7994 0

A PROBABILITY OF 0 MEANS THAT IT IS LESS THAN 0.001.

,
SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

=
SLOPE = (2.273893

95 PERCENT CONFIDENCE LIMITS =-.6425557 AND 5.190342
LC50 =  {1.19567

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY _
L - Cylé 4 G Q‘/}Lb;
LC10 = .3304439 es > 5

95 PERCENT CONFIDENCE LIMITS = 0 AND 1.298003
Fodke ok ke ok ke ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok ke ok ok R o R ok ok ok ok ok ok ok ok ok ok o ok ok ok ok ok ok ok ok ok ok

lewis
%k ok sk ok k ok ok ok ok kX ******************************************* %ok ok ok ok ok ok ok k ok ok ok ok kk
CONC. NUMB NUMBER PERCENT //g OMIAL
EXPOSED DEAD DEAD ) PROB. (PERCENT)

16 100 100 100 L 0

4 100 80 80 7 0

1 100 Ee\\ 6000001 0

.25 100 0 ~. 0 0

BECAUSE THE NUMBER OF ORGANISMS“ﬁ ED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM “THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED\BY THE OTHER TESTS.

. -

.,

s \'\.
AN APPROXIMATE QC5O FOR THIS SET OF DATA IS .8475251
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1.56356

RESULTS CALCULATED USING THE PROBIT METHOD

- ITERATIONS G H GOODNESS OF FIT PROBABILITY
4 4501 12.7994 0

A PROBABILITY OF MEANS THAT IT IS LESS THAN O.

SINCE THE PROBABILITY IS. LESS THAN 0.057" RESULTS CALCULATED
USING THE PROBIT METHOD PRQBABLY SHOULD NOT BE USED.

SLOPE = .
95 PERCENT CONFIDENCE L;MITS , AND 5.190342
LC50 = 1.19567

95 PERCENT CONE¥DENCE LIMITS = 0 AND +% INITY

LC10 = 3304439
95 PERCENT CONFIDENCE LIMITS = 0 AND  1.298003
* % **********************************************************************
’ YﬂﬂV“Wﬁih»! Okat“ﬂ e o
% %k Kk Kk k &k ok ok k kT ok sk ok k ok %k ok ok sk ok sk ok ok ok ok ok k %k ok ok %k k& Kk gk ok ke deok ke ok ok ok ok ok ok sk ok ok ok sk ok ok ok ok ok ok ok ok ok ok ok ok sk ke sk ok
CONC. NUMBER NUMBER PERCENT BINOMIAL
?M}i;(?K EXPOSED DEAD DEAD PROB. (PERCENT)
16 ° 100 100 100 0
4 100 90 90 0
1 100 50 50 0
.25 100 20 20 0

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE

UNRELTABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.
s

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS<§;’§

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD

SPAN G IL.C50 95 PERCENT CONFIDENCE LIMITS
2 3.179918E-02 ~7.8830458™ .7066343
1.09452 S

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
3 2.924907E-02 1 .2179482
SLOPE = <\l.842809
95 PERCENT CONFIDENCE LIMITS = 1.527645 AND 2.157972
1c50 = (.8340626
95 PERCENT CONFIDENCE LIMITS = .6742013 AND 1.018687 q
Lo = 0.735
LC10 = .1706213
95 PERCENT CONFIDENCE LIMITS = .1109181 AND .2354872

*************************************************************************

RESULTS CALCUL USING THE MOVING AV;;;;E\METHQD

SPAN G LC50 95 PERCENT.CONFIDENCE LIMITS
2 3.179918E=02 .8830458 T -,7066343
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. CONC. NUMBER NUMBER PERCENT BINOMIAL
. guy ' /ne  EXPOSED DEAD DEAD PROB. (PERCENT)
16 100 100 100 0
4 100 60 60.00001 0
1 100 0 0 0
.25 100 0 0 0

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.

AN APPROXIMATE LC50 FOR THIS SET OF DATA IS\\3.3901T

WHEN THERE ARE LESS THAN TWO CONCENTRATIONS AT WHICH THE
PERCENT DEAD IS BETWEEN 0 AND 100, NEITHER THE MOVING AVERAGE
NOR THE PROBIT METHOD CAN GIVE ANY STATISTICALLY SOUND. RESULTS.

s

rd
*************************************************************************

CONC. NUMBER PERCENT "  BINOMIAL
EXPOSED DEAD PROB. (PERCENT)
16 100 100 . .0
4 100 60700001 0
1 100 ffﬂp 0
.25 100 0 0

r

"

BECAUSE THE NUMBER OF ORGANISMS USE%X@%S SO LARGE, THE
CONFIDENCE INTERVALS CALCULATED FR E BINOMIAL TEST WOULD BE
UNRELIABLE. USE THE CONFIDENCEff ER FROM THE OTHER .TESTS.

#

/

~

v ™ »
WHEN THERE ARE LESS THAN TWO CONCENTRATIONS AT WHICH\THE
PERCENT DEAD IS BETWEEN 0 AND 100, NEITHER THE MOVING AVERAGE NOR THE
PROBIT METHOD CAN GIVE ANY STATISTICALLY SOUND RESULTS.

**********************************************************f*************
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CONC. NUMBER NUMBER PERCENT BINOMIAL
Gos .ty EXPOSED DEAD DEAD PROB. (PERCENT)

16/ 100 60 60.00001 0

8 100 60 60.00001 0

4 100 20 20 0

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.

0N
AN APPROXIMATE LC50 FOR THIS SET OF DATA IS{6.780553
b.78

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 o 95 PERCENT CONFIDENCE LIMITS
2 .1095177 [8.127463 ™ 6.596867 10.05219

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H GOODNESS OF FIT PROBABILITY
3 60.24467 11.97364 0

A PROBABILITY OF 0 MEANS THAT IT IS LESS THAN 0.001.

SINCE THE PROBABILITY IS LESS THAN 0.05, RESULTS CALCULATED
USING THE PROBIT METHOD PROBABLY SHOULD NOT BE USED.

SLOPE = \1.758658

95 PERCENT CONFIDENCE LIMITS =-11.8916  AND  15.40891
—. Py

rcso = (9.074936

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY
LC10 = 1.720687

95 PERCENT CONFIDENCE LIMITS = 0 AND +INFINITY
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-« CONC. NUMBER NUMBER PERCENT BINOMIAL

5gsa;/h“ EXPOSED DEAD DEAD PROB. (PERCENT)

16 100 50 50 0

4 100 40 40 0

1 100 40 40 0

.25 100 20 20 0

BECAUSE THE NUMBER OF ORGANISMS USED WAS SO LARGE, THE 95 PERCENT
CONFIDENCE INTERVALS CALCULATED FROM THE BINOMIAL PROBABILITY ARE
UNRELIABLE. USE THE INTERVALS CALCULATED BY THE OTHER TESTS.

AN APPROXIMATE LC50 FOR THIS SET OF DATA ISC;;*\

RESULTS CALCULATED USING THE MOVING AVERAGE METHOD
SPAN G LC50 95 PERCENT CONFIDENCE LIMITS

1 1.923774 167 5.035102 +INFINITY

RESULTS CALCULATED USING THE PROBIT METHOD

ITERATIONS G H  GOODNESS OF FIT PROBABILITY
3 .2203054 1 .153645 |
SLOPE = /.4058348
95 PERCENT CONFIDENCE LIMITS = .2153493  AND 5963202
LC50 = %.13.09321 .
95 PERCENT CONFIDENCE LIMITS = 5.635016 AND 83.08031
LC10 = ,D09.720621E-03 ;
95 PERCENT CONFIDENCE LIMITS = 7.228748E-05 AND 6.084252E-02

*************************************************************************
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